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—AREAIR 4,090 500 5,000 9,590
FXE 0 10,049 35,000 45,049
E-ExxitE 0 0 19,758 19,758
Bf [#hA1E 0 0 12,200 12,200
R [ZDAh 0 10,000 0 10,000
—RREAIR 0 49 3,042 3,091
FXE 336,049 0 0 336,049
E-E&xxtE 244,064 0 0 244,064
Bf [HA1E 81,300 0 0 81,300
R [EDMh 0 0 0 0
—AXER 10,685 0 0 10,685
FXE 15,500 20,000 20,000 55,500
E-ExxitE 0 0 0 0
Bf [#hA1E 15,500 20,000 20,000 55,500
R [ZDAh 0 0 0 0
—RREAIR 0 0 0 0
FEH 904,871 239,139 286,590 1,430,600
E- & & 359,189 16,925 36,283 412,397
Bt (#751E 343,600 140,000 212,200 695,800
R [T Dt 161,137 57,000 16,000 234,137
— xR 40,945 25,214 22,107 88,266
FXE 435,710 99,139 91,590 626,439
E-ExitE 249,289 6,925 21,283 277,497
Bf [#hA1E 110,600 20,000 32,200 162,800
R [ZDMh 34,900 57,000 16,000 107,900
—RREAIR 40,921 15,214 22,107 78,242
(BB FM)
SRSt
DHAERE DHS5FE DH6FE (R4~R6)
FXE 161,349 161,349 161,349 484,047
E-Exx e 0 0 0 0
B AR 0 0 0 0
R [ZDMh 96,184 96,184 96,184 288,552
—RREAIR 65,165 65,165 65,165 195,495
FXE 11,000 10,670 0 21,670
E- 8 tE 0 0 0 0
B [(MG1E 11,000 10,600 0 21,600
R [T Dt 0 70 0 70
—AREHIR 0 0 0 0
FXE 6,050 3,850 0 9,900
E-ExxHiE 0 0 0 0
Bf [hA1E 6,000 3,800 0 9,800
R [ZDMh 50 50 0 100
—AREAIR 0 0 0 0
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FXE 5,989 5,938 5,938 17,865
E-ExxihE 900 900 900 2,700

B | AR 0 0 0 0
R | T DA 0 0 0 0
—IRIAIR 5,089 5,038 5,038 15,165
SXE 4,009 3,960 3,960 11,929
E-ExihsE 0 0 0 0

Bt |58 0 0 0 0
IR | T DA 0 0 0 0
—HREAIR 4,009 3,960 3,960 11,929
FXE 1,250 1,400 1,400 4,050
E-ExXtsE 0 0 0 0

Bt | #7515 0 0 0 0
R | T 0 0 0 0
— RSB 1,250 1,400 1,400 4,050
SXE 189,647 187,167 172,647 549,461
E-ExihsE 900 900 900 2,700

Bt | 7518 17,000 14,400 0 31,400
IR | T DA 96,234 96,304 96,184 288,722
—HREAIR 75,513 75,563 75,563 226,639
FXE 172,597 172,647 172,647 517,891
ERCER 900 900 900 2,700

Bt | #7518 0 0 0 0
R | DAt 96,184 96,184 96,184 288,552
— AR 75,513 75,563 75,563 226,639
(81 FF3)

EifGa BT
SHIAEE SHSEE SH6EE (R4~R6)

FXE 2,500 12,500 130,000 145,000
E-ExithE 0 9,000 90,000 99,000

Bt | #751 0 0 0 0
R | DAt 0 0 0 0
—HEAIR 2,500 3,500 40,000 46,000
SXE 144,876 974,231 3,650,605 4,769,712
E-ExihE 4,334 360,000 424,067 788,401

B | HA1E 118,100 579,400 3,210,300 3,907,800
IR | T O 0 34,000 16,000 50,000
—IRIAIR 22,442 831 238 23,511
FXE 6,800 0 0 6,800

ES PRy 6,100 0 0 6,100

Bt | #75 0 0 0 0
R | DAt 0 0 0 0
— AR 700 0 0 700

- 15 -




1 fREE-ER CREZIEHULER fRERHEET R4
(R4]3m B2 EITR B S

shIRBEERECE (33 %HR)

2 FECXIE REEMEMULER FB R ke

EHE REERERRE

[RATODISEBENA 5—at
[R5)DHEEEERSS5—TH. SESHER1S—%
(R6 ) SELHERS—TH

2 FECXEE REEEUER FE RN R3~R4
RERERA L ZHSHERREEEZTORE_ECEADER

RERIENEEEE

2 FECXEE RERUE FEEtEIY— FB CIEMN R3~R6
(R4 ]EMEEETIEN

HFEEEVY—EE (RE1iERTE
(R6)RIZELERA TS, HMET S

3 SnExE SRIY—I\1Y Tkt

SRV —I\1VRERE R
(SRVT—I\1VEREFRISE)

[RA LARERCUE. N1 S—EXUKDBRERE, NEAREREER
(RE]ZHERIBIE T ISAZV T THEN

3 EEmEXE

SR =]\ bz

SRV =\ amBlRER
(SR —I\1VEREFIZE)

(R4 EEM R U KRR, BRI BIEEN. FREHWERIEN
(R5])EEEMimm

5 thigidgdt

REZFEAULER 1AL SR ke

REEUBE LI -DHAER

(R4 )48HE/ N REEHT M5 —E#(1&)
[R5]1ZBHR—ILA—RYNRER K1 5—EH(1E)

5 thisidedt

REZMEHULER 1B SR Ll

®EEiBS LD HAER (R

BEHEAESR)

HAEDNTRICE DR -BUDES [/\—FFEXK] G5t

EEDIE. —ikRED

-16 -




FXE 1,375 0 0 1,375
E-ExxtiE 687 0 0 687
B | AR 0 0 0 0
R [EDMh 515 0 0 515
—AREAIR 173 0 0 173
FXE 412 7,582 9,973 17,967
E-ExxitE 0 0 0 0
Bf [#hA1E 0 0 0 0
R [ZDAh 0 0 0 0
—RREAIR 412 7,582 9,973 17,967
FXE 2,058 0 0 2,058
E-E&xxthE 1,372 0 0 1,372
B (#751E 0 0 0 0
R [ZDMh 0 0 0 0
—RXER 686 0 0 686
FXE 36,894 694,353 80,000 811,247
E-ExxitE 0 0 0 0
Bf [shA1E 29,900 694,300 18,000 742,200
R [ZDAh 0 0 60,000 60,000
—RREAIR 6,994 53 2,000 9,047
FEH 3,202 8,091 0 11,293
E- & & 1,090 4,500 0 5,590
Bt (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 2,112 3,591 0 5,703
FXE 9,543 2,772 0 12,315
E-ExitE 5,635 2,400 0 8,035
Bf [#hA1E 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 3,908 372 0 4,280
FXE 50,014 11,346 0 61,360
E- & & 44,900 10,100 0 55,000
Bt (#751E 0 0 0 0
R [T Dt 0 1,000 0 1,000
—AREHIR 5,114 246 0 5,360
FXE 608 608 608 1,824
E-Exx e 0 0 0 0
B AR 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 608 608 608 1,824
FXE 258,282 1,711,483 3,871,186 5,840,951
E-ExtE 64,118 386,000 514,067 964,185
B [(MG1E 148,000 1,273,700 3,228,300 4,650,000
R [T Dt 515 35,000 76,000 111,515
—RREAIR 45,649 16,783 52,819 115,251
FXE 91,361 713,889 90,581 895,831
E-ExxHiE 46,959 10,100 0 57,059
B | AR 29,900 694,300 18,000 742,200
R [ZDMh 515 1,000 60,000 61,515
—AREAIR 13,987 8,489 12,581 35,057
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(841 FF)

KiestEHARET
DHAFE THISEE THIOEE (R4~R6)
EXE 4,999 4,299 4,299 13,597
E-ExtE 903 902 902 2,707
B (AR 0 0 0 0
R [ZDAh 151 149 149 449
—RREAIR 3,945 3,248 3,248 10,441
FXE 13,398 13,398 13,398 40,194
E-E&xxtE 0 0 0 0
Bf |HA1E 8,400 8,000 8,300 24,700
R [ZDMh 2,208 2,208 2,208 6,624
—RXER 2,790 3,190 2,890 8,870
FXE 11,908 12,112 12,112 36,132
E-ExitE 70 35 35 140
B (A& 0 0 0 0
R [ZDAh 1,745 1,772 1,772 5,289
—RREAIR 10,093 10,305 10,305 30,703
FEH 1,612 1,703 1,703 5,018
E-ExitiE 0 0 0 0
B (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 1,612 1,703 1,703 5,018
FXE 7,504 8,583 8,583 24,670
E-Exx e 260 900 900 2,060
Bf [#hA1E 0 0 0 0
R [ZDMh 3,000 3,000 3,000 9,000
—RREAIR 4,244 4,683 4,683 13,610
FXE 42,739 42,739 42,739 128,217
E- & & 760 760 760 2,280
B [(#751E 0 0 0 0
R [T Dt 10,000 10,000 10,000 30,000
—AREHIR 31,979 31,979 31,979 95,937
FXE 2,618 2,695 2,695 8,008
E-Exx e 0 0 0 0
Bf [shA1E 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 2,618 2,695 2,695 8,008
FXE 10,375 10,375 11,014 31,764
E-ExtE 0 0 0 0
B [(MG1E 0 0 0 0
R [T Dt 0 0 0 0
— xR 10,375 10,375 11,014 31,764
FXE 7,229 7,229 7,229 21,687
E-ExxitE 5,720 5,720 5,720 17,160
B | AR 0 0 0 0
R [ZDMh 0 0 0 0
—AREAIR 1,509 1,509 1,509 4,527
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FXE 5,834 5,834 5,834 17,502
E-ExxtiE 0 0 0 0
Bf [hA1E 0 0 0 0
R [ZDMh 1 1 1 3
—AREAIR 5,833 5,833 5,833 17,499
EXE 5,438 5,438 5,438 16,314
E-ExitE 0 0 0 0
B (A& 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 5,438 5,438 5,438 16,314
FXE 6,000 6,000 6,000 18,000
E-E&xxthE 4,800 4,800 4,800 14,400
Bt (#751E 0 0 0 0
R [ZDMh 0 0 0 0
—RXER 1,200 1,200 1,200 3,600
FXE 3,480 5,880 5,880 15,240
E-Exx e 2,610 4,410 4,410 11,430
Bf [#hA1E 0 0 0 0
R [ZDAh 0 0 0 0
—RREAIR 870 1,470 1,470 3,810
FEH 1,200 1,200 1,200 3,600
E- 8 tE 800 800 800 2,400
B (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 400 400 400 1,200
FXE 6,648 6,648 6,648 19,944
E-ExxitE 1,566 1,566 1,566 4,698
Bf [shA1E 0 0 0 0
R [EDMh 0 0 0 0
—RREAIR 5,082 5,082 5,082 15,246
FXE 1,044 1,044 1,044 3,132
H-ExitiE 0 0 0 0
Bt (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 1,044 1,044 1,044 3,132
FXE 17,712 17,712 17,712 53,136
E-Exx e 10,612 10,612 10,612 31,836
Bf [#hA1E 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 7,100 7,100 7,100 21,300
FXE 3,589 0 0 3,589
E- 8 tE 2,948 0 0 2,948
B |MG1E 0 0 0 0
R [T Dt 0 0 0 0
— xR 641 0 0 641
FXE 2,248 2,248 2,248 6,744
E-ExxHiE 1,408 1,408 1,408 4,224
Bf [hA1E 0 0 0 0
R [EDMh 0 0 0 0
—AREAIR 840 840 840 2,520
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FXE 6,000 6,000 6,000 18,000
E-ExxtiE 0 0 0 0
Bf [hA1E 0 0 0 0
R [ZDMh 6,000 6,000 6,000 18,000
—RREAIR 0 0 0 0
EXE 17,300 17,300 17,300 51,900
E-ExitE 0 0 0 0
Bf (A& 10,800 10,300 10,700 31,800
R [ ZDMh 0 0 0 0
—RREAIR 6,500 7,000 6,600 20,100
FXE 500 500 500 1,500
E-E&xxtE 0 0 0 0
B (#751E 300 300 300 900
R [ZDMh 0 0 0 0
—RXER 200 200 200 600
FXE 0 2,947 0 2,947
E-ExxitE 0 0 0 0
Bf [#hA1E 0 0 0 0
R [ZDAh 0 0 0 0
—RREAIR 0 2,947 0 2,947
FEH 19,377 19,377 19,377 58,131
E-ExitiE 0 0 0 0
B (#751E 0 0 0 0
R [T Dt 10,474 10,474 10,474 31,422
— xR 8,903 8,903 8,903 26,709
FXE 5,879 7,603 7,603 21,085
E-ExxitE 0 0 0 0
Bf [shA1E 0 0 0 0
R [EDMh 0 0 0 0
—RREAIR 5,879 7,603 7,603 21,085
FXE 3,268 3,268 3,268 9,804
H-ExitiE 0 0 0 0
B M5 1E 0 0 0 0
R [T Dt 0 0 0 0
—AXEHR 3,268 3,268 3,268 9,804
FXE 8,629 8,629 8,629 25,887
E-Exx e 4,983 4,983 4,983 14,949
B | HA1E 0 0 0 0
R [EDMh 0 0 0 0
—RREAIR 3,646 3,646 3,646 10,938
FXE 1,316 1,316 1,316 3,948
E- 8 tE 669 669 669 2,007
B [(MG1E 0 0 0 0
R [T Dt 0 0 0 0
— xR 647 647 647 1,941
FXE 52,949 51,782 48,820 153,551
E-ExxHiE 0 0 0 0
Bf [hA1E 29,400 30,900 30,100 90,400
R [EDMh 0 0 0 0
—AREAIR 23,549 20,882 18,720 63,151
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FXE 0 140 0 140
E-ExxtiE 0 0 0 0
B | AR 0 0 0 0
R [EDMh 0 0 0 0
—AREAIR 0 140 0 140
EXE 1,715 1,715 1,715 5,145
E-ExxitE 0 0 0 0
Bf [#hA1E 0 0 0 0
R [ZDAh 0 0 0 0
—RREAIR 1,715 1,715 1,715 5,145
FXE 17,484 17,484 18,841 53,809
E-E&xxhE 6,587 6,587 6,757 19,931
Bt (#751E 0 0 0 0
R [ZDMh 159 159 159 477
—RXEHR 10,738 10,738 11,925 33,401
FXE 2,000 2,000 2,000 6,000
E-ExxitE 0 0 0 0
Bf [#hA1E 1,300 1,200 1,200 3,700
R [ZDAh 0 0 0 0
—RREAIR 700 800 800 2,300
FEH 9,892 9,892 9,892 29,676
E- & & 102 0 0 102
Bt (#751E 0 0 0 0
R [T DAt 9,790 9,892 9,892 29,574
— xR 0 0 0 0
FXE 4,921 4,920 4,920 14,761
E-ExitE 2,302 2,302 2,302 6,906
Bf [#hA1E 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 2,619 2,618 2,618 7,855
FXE 24,149 24,271 25,484 73,904
H-ExitiE 0 0 0 0
Bt (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 24,149 24,271 25,484 73,904
FXE 330,954 334,281 331,441 996,676
E-Exx e 47,100 46,454 46,624 140,178
Bf [#hA1E 50,200 50,700 50,600 151,500
R [ZDMh 43,528 43,655 43,655 130,838
—RREAIR 190,126 193,472 190,562 574,160
FXE 310,446 309,102 309,209 928,757
E- 8 tE 42,117 41,471 41,641 125,229
B |MG1E 50,200 50,700 50,600 151,500
R [T Dt 37,528 37,655 37,655 112,838
— xR 180,601 179,276 179,313 539,190
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(841 FF)

KiestEHAREET
DHAFE THISEE THIOEE (R4~R6)
EXE 25,164 25,000 0 50,164
E-Exx e 0 0 0 0
Bf (A& 23,700 25,000 0 48,700
R [ZDMh 700 0 0 700
—RREAIR 764 0 0 764
FXE 3,648 0 0 3,648
E-E&xxtE 1,457 0 0 1,457
Bf |HA1E 2,000 0 0 2,000
R [ZDMh 99 0 0 99
—RXEHR 92 0 0 92
FXE 10,500 8,000 8,000 26,500
E-ExitE 10,500 8,000 8,000 26,500
B [#hA1E 0 0 0 0
R [ZDAh 0 0 0 0
—RREAIR 0 0 0 0
FEH 51,066 25,599 50,066 126,731
E- 8 & 51,066 25,533 50,000 126,599
B (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 0 66 66 132
FXE 531 1,000 1,000 2,531
E-ExxitE 0 0 0 0
Bf [#hA1E 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 531 1,000 1,000 2,531
FXE 1,000 1,000 1,000 3,000
H-ExitiE 0 0 0 0
Bt (M5 1E 0 0 0 0
R [T DAt 0 0 0 0
—AXEHR 1,000 1,000 1,000 3,000
FXE 21,234 90,100 45,000 156,334
E-ExxitE 15,424 67,500 33,500 116,424
Bf [#hA1E 5,600 22,500 11,400 39,500
R [EDMh 199 99 99 397
—RREAIR 11 1 1 13
FXE 49,215 25,600 0 74,815
E- 8 tE 0 0 0 0
B (MG1E 44,700 22,100 0 66,800
R [T DAt 800 3,250 0 4,050
— xR 3,715 250 0 3,965
FXE 6,300 6,300 6,300 18,900
E-ExxitE 3,200 3,200 3,200 9,600
Bf [#hA1E 0 0 0 0
R [EDMh 0 0 0 0
—AREAIR 3,100 3,100 3,100 9,300
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XS 2,553 5,700 5,500 13,753
H-E@XhE 1,586 3,000 2,000 6,586

Bf (A& 0 0 0 0
B[ Z0fh 0 0 0 0
—AREAIR 967 2,700 3,500 7,167
EXEE 5,000 5,000 5,000 15,000
H-E8XhE 0 0 0 0

Bf (A& 0 0 0 0
B[ 20 0 0 0 0
—AREAIR 5,000 5,000 5,000 15,000
e 10,000 10,000 5,000 25,000
EREE ki 0 0 0 0

Bf (A& 0 0 0 0
B[ Zfh 3,814 3,500 0 7,314
—AREAIR 6,186 6,500 5,000 17,686
e 8 3,600 3,600 7,208
HE8XhE 0 0 0 0

Bt (#hA1E 0 0 0 0
B[ 20 0 3,600 3,600 7,200
—AREHR 8 0 0 8
s 5,362 0 0 5,362
H-E8XhE 2,681 0 0 2,681

B (AR 0 0 0 0
B [Zofh 2,680 0 0 2,680
—AREAIR 1 0 0 1
BXE 20,000 10,000 0 30,000
ERCEukn 10,000 0 0 10,000

Bf [HhA1E 0 0 0 0
B[ Z0fh 10,000 10,000 0 20,000
—AREAIR 0 0 0 0
s 211,050 215,899 129,466 556,415
HE8XhE 95,914 107,233 96,700 299,847

Bf [HhA1E 76,000 69,600 11,400 157,000
B [Z0fh 18,292 20,449 3,699 42,440
—AREAIR 20,844 18,617 17,667 57,128
(B84I:FH)

EHEsHEHARET
DHAEE DISEE DI6EE (R4~R6)

e 3,709 3,100 2,600 9,409
HE8XhE 720 600 600 1,920

B (AR 0 0 0 0
B [ 20t 0 0 0 0
—AREAIR 2,989 2,500 2,000 7,489
BXEE 3,750 6,000 3,750 13,500
EREErkn 3,750 6,000 3,750 13,500

Bf (A& 0 0 0 0
B[ Z0fh 0 0 0 0
—AREAIR 0 0 0 0
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FXE 2,703 2,226 1,774 6,703
E-ExxtiE 951 736 539 2,226
Bf [hA1E 0 0 0 0
R [EDMh 0 0 0 0
—AREAIR 1,752 1,490 1,235 4,477
EXE 91,029 91,029 91,029 273,087
E-ExxitE 68,211 68,211 68,211 204,633
Bf [ A1E 0 0 0 0
R [ ZDMh 10,000 10,000 10,000 30,000
—RREAIR 12,818 12,818 12,818 38,454
FXE 113,667 113,667 113,667 341,001
E-E&xxthE 85,309 85,309 85,309 255,927
B (#751E 0 0 0 0
R [ZDMh 3,000 3,000 3,000 9,000
—RXEHR 25,358 25,358 25,358 76,074
FXE 25,370 21,394 21,394 68,158
E-ExxitE 19,039 16,045 16,045 51,129
Bf (A& 0 0 0 0
R [ZDAh 0 0 0 0
—RREAIR 6,331 5,349 5,349 17,029
FEH 3,727 3,380 3,380 10,487
E- 8 & 3,727 3,380 3,380 10,487
Bt (#751E 0 0 0 0
R [T DAt 0 0 0 0
— xR 0 0 0 0
FXE 10,500 9,000 9,000 28,500
E-ExxitE 5,250 4,500 4,500 14,250
Bf [shA1E 0 0 0 0
R [EDMh 0 0 0 0
—RREAIR 5,250 4,500 4,500 14,250
FXE 2,090 0 0 2,090
H-ExitiE 0 0 0 0
Bt (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 2,090 0 0 2,090
FXE 18,653 18,413 18,513 55,579
E-Exx e 0 0 0 0
Bf [#hA1E 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 18,653 18,413 18,513 55,579
FXE 94,338 94,100 93,900 282,338
E- 8 tE 0 0 0 0
B |MG1E 0 0 0 0
R [T Dt 75,000 75,000 75,000 225,000
— xR 19,338 19,100 18,900 57,338
FXE 4,000 4,500 4,500 13,000
E-ExxHiE 2,000 2,250 2,250 6,500
B | AR 0 0 0 0
R [EDMh 0 0 0 0
—AREAIR 2,000 2,250 2,250 6,500
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FXE 6,260 6,000 6,000 18,260
E-ExxtiE 3,000 3,000 3,000 9,000
Bf [hAfE 0 0 0 0
R [ZDMh 0 0 0 0
—AREAIR 3,260 3,000 3,000 9,260
FXE 5,254 8,035 6,035 19,324
E-ExxitE 2,590 3,730 2,730 9,050
B (A8 0 0 0 0
R [ZDMh 1,000 2,000 1,000 4,000
—RREAIR 1,664 2,305 2,305 6,274
FXE 335 168 0 503
E-E&xxhE 0 0 0 0
Bt (#751E 0 0 0 0
R [EDfh 0 0 0 0
—AXER 335 168 0 503
FXE 17,822 18,002 18,182 54,006
E-Exx e 2,600 2,600 2,600 7,800
Bt [shA1E 0 0 0 0
R [ZDAh 0 0 0 0
—RREAIR 15,222 15,402 15,582 46,206
FEH 9,231 11,100 11,100 31,431
E- 8 tE 2,549 5,550 5,550 13,649
Bt (#751E 0 0 0 0
R [T DAt 6,620 5,500 5,500 17,620
—AXEIR 62 50 50 162
e 5,800 5,800 5,800 17,400
E-ExxitE 2,900 2,900 2,900 8,700
Bf [shA1E 0 0 0 0
R [ZDMh 2,000 2,000 2,000 6,000
—AREAIR 900 900 900 2,700
BXE 3,929 10,000 0 13,929
H-ExitiE 0 0 0 0
B M7 1R 0 0 0 0
R [T Dt 3,900 10,000 0 13,900
—AREHIR 29 0 0 29
FXE 6,918 6,918 6,918 20,754
E-Exx e 3,459 3,459 3,459 10,377
Bf [#hA1E 0 0 0 0
R [EDMh 3,400 3,400 3,400 10,200
—RREAIR 59 59 59 177
FXE 5,288 3,856 3,856 13,000
E-ExtE 0 0 0 0
B [(MG1E 0 0 0 0
R [T Dt 0 0 0 0
— xR 5,288 3,856 3,856 13,000
FXE 1,969 1,969 1,969 5,907
E-ExHiE 0 0 0 0
Bf [hA1E 0 0 0 0
R [ZDMh 0 0 0 0
—AREAIR 1,969 1,969 1,969 5,907
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FXE 436,342 438,657 423,367 1,298,366
E- & hE 206,055 208,270 204,823 619,148
Bf [hA1E 0 0 0 0
R [ZDMh 104,920 110,900 99,900 315,720
—RREAIR 125,367 119,487 118,644 363,498
(Bfi:FF3)
EhestEHAREET
DHAFE SHSFEE DHOFE (R4~R6)
FXE 3,757 12,000 0 15,757
E-E&xxtE 3,100 10,000 0 13,100
Bt (#751E 0 0 0 0
R [ZDMh 0 2,000 0 2,000
—RXER 657 0 0 657
FXE 12,100 0 0 12,100
E-ExxitE 10,800 0 0 10,800
Bf [#hA1E 0 0 0 0
R [ZDAh 1,000 0 0 1,000
—RREAIR 300 0 0 300
FEH 0 0 10,000 10,000
E-ExitiE 0 0 0 0
B (#751E 0 0 0 0
R [T Dt 0 0 10,000 10,000
— xR 0 0 0 0
FXE 0 0 29,600 29,600
E-ExxitE 0 0 0 0
Bf [shA1E 0 0 0 0
R [ZDMh 0 0 29,000 29,000
—RREAIR 0 0 600 600
FXE 4,135 4,131 798 9,064
E-ExitiE 0 0 0 0
Bt (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 4,135 4,131 798 9,064
FXE 0 0 5,000 5,000
E-ExxitE 0 0 0 0
B AR 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 0 0 5,000 5,000
FXE 0 1,500 15,000 16,500
E-ExtE 0 0 0 0
B [(MG1E 0 0 0 0
R [T Dt 0 1,500 15,000 16,500
— xR 0 0 0 0
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FXE 55,676 35,820 0 91,496
E- & & 34,536 26,860 0 61,396
Bf [hA1E 0 0 0 0
R [ZDMh 20,000 8,000 0 28,000
—AREAIR 1,140 960 0 2,100
EXE 1,300 3,000 3,000 7,300
E-ExitE 0 0 0 0
Bf (A& 0 0 0 0
R [ ZDMh 1,300 3,000 0 4,300
—RREAIR 0 0 3,000 3,000
FXE 0 0 10,000 10,000
E-ExxtE 0 0 0 0
B (#751E 0 0 0 0
R [ZDMh 0 0 10,000 10,000
—RXEHR 0 0 0 0
FXE 0 2,000 0 2,000
E-ExxitE 0 0 0 0
Bf [shA1E 0 0 0 0
R [ZDAh 0 2,000 0 2,000
—RREAIR 0 0 0 0
FEH 0 1,600 0 1,600
E- & & 0 1,300 0 1,300
Bt (#751E 0 0 0 0
R [T DAt 0 0 0 0
— xR 0 300 0 300
FXE 1,012 0 1,100 2,112
E-ExxitE 0 0 0 0
Bf [shA1E 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 1,012 0 1,100 2,112
FXE 0 2,000 0 2,000
E- & & 0 1,700 0 1,700
Bt (#751E 0 0 0 0
R [T Dt 0 0 0 0
—AREHIR 0 300 0 300
FXE 0 0 700 700
E-Exx e 0 0 0 0
B AR 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 0 0 700 700
FXE 0 125,917 1,500 127,417
E-ExtE 0 30,000 0 30,000
B (MG 1R 0 95,900 0 95,900
R [T Dt 0 0 0 0
— AR 0 17 1,500 1,517
FXE 77,980 187,968 76,698 342,646
E-ExxHiE 48,436 69,860 0 118,296
Bf [thA1E 0 95,900 0 95,900
R [EDMh 22,300 16,500 64,000 102,800
—AREAIR 7,244 5,708 12,698 25,650
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(841 FF)

KiestEHARET
DHAFE THISEE THIOEE (R4~R6)
EXE 9,700 9,300 9,300 28,300
E-ExtE 0 0 0 0
B (AR 6,100 5,600 5,700 17,400
R [ZDAh 0 0 0 0
—RREAIR 3,600 3,700 3,600 10,900
FXE 8,325 8,325 8,325 24,975
E-E&xxtE 0 0 0 0
B (#751E 0 0 0 0
R [ZDMh 0 0 0 0
—AXER 8,325 8,325 8,325 24,975
FXE 11,522 9,400 9,400 30,322
E-ExitE 0 0 0 0
B (A& 0 0 0 0
R [ZDAh 2,000 2,000 2,000 6,000
—RREAIR 9,522 7,400 7,400 24,322
FEH 6,343 7,000 7,000 20,343
E- 8 & 1,090 1,000 1,000 3,090
Bt (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 5,253 6,000 6,000 17,253
FXE 5,726 5,800 5,800 17,326
E-ExxitE 580 500 500 1,580
Bf [#hA1E 0 0 0 0
R [EDMh 0 0 0 0
—RREAIR 5,146 5,300 5,300 15,746
FXE 21,523 22,000 23,000 66,523
E-ExitiE 0 0 0 0
B [(#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 21,523 22,000 23,000 66,523
FXE 1,458 1,458 1,428 4,344
E-ExxitE 0 0 0 0
Bf [shA1E 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 1,458 1,458 1,428 4,344
FXE 2,398 2,460 2,480 7,338
E- 8 tE 0 0 0 0
B [(MG1E 0 0 0 0
R [T Dt 0 0 0 0
— xR 2,398 2,460 2,480 7,338
FXE 11,779 12,000 12,000 35,779
E-ExitE 0 0 0 0
Bf [#hA1E 0 0 0 0
R [ZDMh 0 0 0 0
—AREAIR 11,779 12,000 12,000 35,779
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XS 24,059 24,059 24,059 72,177
H-E@XhE 10,693 10,693 10,693 32,079

Bf (A& 0 0 0 0
B[ Z0fh 1,134 1,134 1,134 3,402
—AREAIR 12,232 12,232 12,232 36,696
EXEE 2,911 0 0 2,911
HE8XhE 0 0 0 0

Bf (A& 0 0 0 0
B[ 20 2,500 0 0 2,500
—AREAR 411 0 0 411
e 2,980 1,540 1,540 6,060
H-E@XhE 1,000 720 0 1,720

Bf (HhA1E 0 0 0 0
B[ Zfh 1,800 701 701 3,202
—AREAIR 180 119 839 1,138
e 10,359 10,359 10,359 31,077
HE8XhE 0 0 0 0

Bt (#hA1E 0 0 0 0
B[ 20 1,404 1,404 1,404 4,212
—AREAIR 8,955 8,955 8,955 26,865
s 2,450 2,450 2,450 7,350
H-E8XhE 0 0 0 0

B (AR 0 0 0 0
B [Z0fh 16 16 16 48
—AREAIR 2,434 2,434 2,434 7,302
e 1,220 1,220 1,220 3,660
Btk 0 0 0 0

Bf (A1 0 0 0 0
B[ Z0fh 0 0 0 0
—AREAIR 1,220 1,220 1,220 3,660
s 122,753 117,371 118,361 358,485
HE8XhE 13,363 12,913 12,193 38,469

Bf [HhA1E 6,100 5,600 5,700 17,400
B [Z0fh 8,854 5,255 5,255 19,364
—AREAIR 94,436 93,603 95,213 283,252
(B84I:FH)

EhEsHEHARET
DHAEE DINSEE DIOEE (R4~R6)

e 39,449 25,700 33,700 98,849
HE8XhE 34,100 23,100 30,000 87,200

Bf (AR 0 0 0 0
B[ 20 0 2,000 0 2,000
—AREAIR 5,349 600 3,700 9,649
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FXE 42,007 198,259 13,931 254,197
E-ExxtiE 15,168 89,216 6,200 110,584
Bf [hA1E 26,700 108,300 7,600 142,600
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—RREAIR 3,628 4,000 4,000 11,628
FXE 19,645 19,645 19,645 58,935
E-ExitiE 0 0 0 0
B (M7 1E 0 0 0 0
R [T Dt 0 0 0 0
— xR 19,645 19,645 19,645 58,935
FXE 4,300 0 0 4,300
E-ExxitE 225 0 0 225
Bf [#hA1E 0 0 0 0
R [EDMh 0 0 0 0
—RREAIR 4,075 0 0 4,075
FXE 120 360 600 1,080
E- 8 tE 0 0 0 0
B [(MG1E 0 0 0 0
R [T Dt 0 0 0 0
— xR 120 360 600 1,080
FXE 1,516 1,516 1,516 4,548
E-ExxitE 645 645 645 1,935
Bf [hAfE 0 0 0 0
R [EDMh 475 475 475 1,425
—AREAIR 396 396 396 1,188
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FXE 40,603 39,380 39,920 119,903
E-ExxtiE 1,613 1,390 1,245 4,248
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R [ZDMh 6,775 6,875 6,875 20,525
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—RXER 378 0 0 378
FXE 60,483 30,000 50,000 140,483
E-Exx e 60,483 30,000 50,000 140,483
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H-ExitiE 0 0 0 0
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R [T Dt 0 0 0 0
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—RREAIR 16,248 16,231 1,423 33,902
FXE 310,544 233,616 128,501 672,661
E- 8 tE 262,692 169,072 99,054 530,818
B [MG1E 18,200 16,000 18,000 52,200
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— xR 29,652 45,544 11,447 86,643
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DHAFE THISEE THIOEE (R4~R6)
EXE 8,217 8,217 8,217 24,651
E-ExtE 0 0 0 0
B (AR 0 0 0 0
R [ZDAh 0 0 0 0
—RREAIR 8,217 8,217 8,217 24,651
FXE 1,830 0 0 1,830
E-E&xxtE 0 0 0 0
B (#751E 0 0 0 0
R [ZDMh 0 0 0 0
—AXER 1,830 0 0 1,830
FXE 4,321 4,321 4,321 12,963
E-ExitE 0 0 0 0
B (A& 0 0 0 0
R [ZDAh 61 61 61 183
—RREAIR 4,260 4,260 4,260 12,780
FEH 1,300 1,300 1,300 3,900
E-ExitiE 0 0 0 0
B (#751E 0 0 0 0
R [T Dt 0 0 0 0
— xR 1,300 1,300 1,300 3,900
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E-Exx e 430 430 430 1,290
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R [ZDMh 0 0 0 0
—RREAIR 5,903 6,028 6,129 18,060
FXE 2,543 2,149 2,774 7,466
H-ExitiE 0 0 0 0
Bt (M5 1E 0 0 0 0
R [T DAt 0 0 0 0
—AREHIR 2,543 2,149 2,774 7,466
FXE 3,035 3,035 3,035 9,105
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Bf [shA1E 0 0 0 0
R [ZDMh 0 0 0 0
—RREAIR 3,035 3,035 3,035 9,105
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B [(MG1E 0 0 0 0
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BT3Pl s ok (BT ) 6,800 6,100 700
a &t 135,868 120,000 15,868
S E5—R=ET 125,476 110,800 14,676
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